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Sk BE4 £ 72 A B KME (mm) RREE(m)
it = B 18 0.8 6.0
[RFIFERE f#iB BE 175 0.4 5.0
a &t 193 - -
1 it 5= B 217 0.7 7.0
A—EVER f# BhEE 14 0.3 4.0
a8 &t 231 - -
BKRRMBERE it = B 15 0.4 2.9
ElA B Z M RTiR E it = B 5 0.2 5.0
it = B 55 0.4 3.0
[RFIFERE f#iB BE 86 0.5 5.0
a &t 141 - -
2 it 5= B 262 0.6 10.0
A—EVER f# BhEE 68 0.5 55
& &t 330 - -
BKRRMBER it = B 7 0.4 35
it 5= B 72 05 45
RFFEE f# BhEE 128 0.45 6.0
& &t 200 - -
3 it = B 315 0.55 7.5
A—EVER fHByEE 6 0.2 43
a &t 321 - -
BKARMBERE it 5= B 10 0.55 4.6
it = B 52 0.3 4.0
[RFIFERE f#iB BE 87 0.4 6.4
a &t 139 - -
4 it 5= B 123 0.45 5.0
A—EVER f# BhEE 19 0.4 5.0
a8 &t 142 - -
BKRRMBER it = ¥ 0 - -
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S BE4A =i R 72 R K1 (mm) RAEE(m)
it 5= B 38 0.6 3.8
[RFIFEE f# BhEE 3 0.25 2.4
& &t 41 - -
5 it = B 69 0.4 5.3
A—EVER fi Bh B2 14 0.4 5.0
a &t 83 - -
BKARMBERE it 5= B 3 0.3 2.7
it = B 24 0.35 45
[RFIFERE f#iB BE 52 0.25 3.1
a &t 76 - -
it 5= B 167 0.65 7.0
6 A—EVER f# BhEE 36 0.65 4.2
& &t 203 - -
it = B 9 0.35 2.5
avkO—ILER 1 Bh B2 12 0.35 2.7
a &t 21 - -
it 5= B 11 0.3 3.0
[RFIFEE f# BhEE 50 0.3 3.5
; & &t 61 - -
it = B 124 0.65 4.0
A—EVER fi Bh B2 14 0.45 35
a &t 138 - -
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